

Connecticut State University System

Board of Trustees



RESOLUTION

concerning

DONATION OF SOURCE BOOKS

TO

SOUTHERN CONNECTICUT STATE UNIVERSITY

FROM

CACI MARKETING SYSTEMS

July 19, 1996

CACI Marketing Systems has made a donation of source books to Southern WHEREAS, Connecticut State University, now, therefore, be it

That the Board of Trustees for the Connecticut State University System on behalf RESOLVED. of Southern Connecticut State University accepts the gift of source books valued at \$10,769.60, an inventory of accepted items to be maintained as a part of the record of Board action, and expresses its appreciation to CACI Marketing Systems for this generous gift.

A Certified True Copy:

William J. C bes, Jr.

Chancellor





Office of the Vice President for Academic Affairs

Telephone: (203) 392-5350 FAX: (203) 392-5355

July 5, 1996

Dr. William J. Cibes Chancellor The Connecticut State University 39 Woodland Street Hartford, CT 06106

Re: Resolution for Consideration by the Board of Trustees

Dear Dr. Cibes:

Please find attached a proposed resolution concerning the donation of source books with supporting information for consideration by the Academic Planning Committee of the Board of Trustees at their meeting scheduled for Friday, July 19, 1996.

Sincerely yours,

Anthony V. Pinciaro

Vice President for Academic Affairs

AVP:ky Enclosure

cc: President Michael J. Adanti



CERTIFICATION OF DONATION

The following items were donated to the non-profit institution listed below:

Quan.	Item Description	Market <u>Value</u>	Extended
3	The Sourcebook of ZIP Code Demographics, 10th Edition	\$495.00	\$ 1,485.00
3	The Sourcebook of County Demographics, 8th Edition	395.00	1,185.00
3	The Sourcebook of ZIP Code Demographics, 9th Edition	395.00	1,185.00
3	The Sourcebook of County Demographics, 7th Edition	345.00	1,035.00
1	The Sourcebook of ZIP Code Demographics, 8th Edition	345.00	345.00
1	The Sourcebook of County Demographics, 6th Edition	295.00	295.00
3	ACORN™ Users Guides	9.95	79.60
2	The Sourcebook of ZIP Code Demographics: Census Ed., Vol. I	295.00	590.00
2	The Sourcebook of ZIP Code Demographics: Census Ed., Vol. II	295.00	590.00
2	SourcebookAmerica on CD-ROM	995.00	1,990.00
1	The Sourcebook of ZIP/County Demographics, 10th Ed., CD-ROM	995.00	995.00
1	The Sourcebook of ZIP/County Demographics, 9th Ed., CD-ROM	995.00	995.00
	Total Donation		\$10,769.60

By signing below, the undersigned institution verifies the receipt of the above mentioned donated goods in the quantities and descriptions mentioned and also agrees to utilize goods for only the universities use.

Recipient Information

Institution:	Southern Connect	icut State University		
Address:	501 Crescent Stree	t		
City:	New Haven	State: CT	ZIP Code	06515
Name:	Kenneth Laird			
Title:	Chairman, Marketing Department			
Signature:		I	Date:	

CERTIFICATION OF DONATION

The following limits were donated to the non-profit institution listed below:

	14m Description	Market <u>Value</u>	Extended
?	The Sourcebook of ZIP tode Demographics, 10th Edition	\$495.00	\$ 1485.00
3	The Sourcebook of County - Emographics, 8th Euition	395.00	1185.00
3	The Sourcebook of ZIP Code Demographics, 9th Edition	395.00	1185.00
3	The Sourcebook of County Pemographics, 7th Edition	345.00	1035.00
i	The Sourcebook of ZIP Code Demographics, 8th Edition	345.00	345.00
1	The Sourcebook of County Demographics, 6th Edition	295.00	295.00
3	ACORNIM Users Guides	9.95	79.60
2	The Sourcebook of ZIP Code Demographics: Census Ed., Vol. I	295.00	590.00
2	The Sourcebook of ZIP Code Demographics: Census Ed., Vol. II	295.00	590.00
2	SourcebookAmerica on CD-ROM	995.00	1990.00
l	The Sourcebook of ZIP/County Demographics, 10th Ed., CD-ROM	995.00	995.00
t	The Sourcebook of ZIP/County Demographics, 9th Ed., CD-ROM	995.00	995.00
	Total Donation		<u>\$10,769.60</u>

By signing below, the undersigned institution verifies the receipt of the above mentioned donated goods in the quantities and descriptions mentioned and also agrees to utilize goods for only the universities use.

Recipient Information

Institution: Scuthern Connecticut State University

Address: 501 Cresent Street

City: New Haven State: CT ZIP Code: 06515

Name: Kenneth Laird

Title: Chairman, Marketing Department

Signature: Just 1- July Date: 2/9/96